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QID : 1 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select ‘No Error'.

She picked (1)/ on the (2)/ trail soon after. (3)/ No error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 2 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Internet Service Providers (ISPs) should provide us (1)/ with open networks and should not block or discriminate for (2)/ any application or content that rides over
those networks. (3)/ No error (4)

Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 3 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

Meera cannot the exam's results.
Options:

1) depict

2) await

3) envision

4) observe

Correct Answer: await

Candidate Answer: observe

QID : 4 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by
selecting the appropriate option.

Being linked with nature brings joy and peace as it is the of the laws of Nature.
Options:

1) dissent

2) refusal

3) acknowledgement

4) sustenance

Correct Answer: acknowledgement

Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Felicity

Options:

1) Bliss

2) Misery

3) Grief

4) Trouble

Correct Answer: Bliss

Candidate Answer: [ NOT ANSWERED ]
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QID : 6 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Chafe

Options:

1) Chain

2) Safe

3) Irritate

4) Joy

Correct Answer: Irritate

Candidate Answer: [ NOT ANSWERED ]

QID : 7 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Forgo

Options:

1) Forfeit

2) Neglect

3) Conquer

4) Pass

Correct Answer: Conquer

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Banter

Options:

1) Teasing

2) Praise

3) Fun

4) Gossip

Correct Answer: Praise

Candidate Answer: [ NOT ANSWERED ]

QID : 9 - Rearrange the parts of the sentence in correct order.

Gender inequality has

P : it reduces economic growth
Q : development goals as
R : adverse impact on
Options:

1) RPQ

2) RQP

3) PRQ

4) QPR

Correct Answer: RQP
Candidate Answer: RQP

QID : 10 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Who did this?

Options:

1) This was done by who?
2) By who this was done?
3) By whom this was done?
4) By whom was this done?

Correct Answer: By whom was this done?
Candidate Answer: By whom was this done?

QID : 11 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Ram said, “I have cleared the clutter.”
Options:

1) Ram told that he cleared the clutter.

2) Ram says that he cleared the clutter.

3) Ram said that he had cleared the clutter.
4) The clutter was cleared by Ram

Correct Answer: Ram said that he had cleared the clutter.
Candidate Answer: Ram said that he had cleared the clutter.

QID : 12 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Beizarre

2) Bizaarre

3) Bizarre

4) Bigarre



www.makemyexam.in - Powered by IBT

Correct Answer: Bizarre
Candidate Answer: [ NOT ANSWERED ]

QID : 13 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One should always keep in mind that psychology is essentially a laboratory science, and a text-book subject. The laboratory material is to be in
ourselves. While the text should be thoroughly mastered, its statements should always be verified reference to one's own experience, and observation of
others. Prospective teachers should constantly correlate the lessons of the book the observation of children at work in the school. The problems suggested
for and introspection will, if mastered, do much to render practical help to find the truths of psychology.

science, and a text-book subject.

Options:

1) nor

2) neither

3) not

4) none

Correct Answer: not
Candidate Answer: nor

QID : 14 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One should always keep in mind that psychology is essentially a laboratory science, and a text-book subject. The laboratory material is to be in
ourselves. While the text should be thoroughly mastered, its statements should always be verified reference to one's own experience, and observation of
others. Prospective teachers should constantly correlate the lessons of the book the observation of children at work in the school. The problems suggested
for and introspection will, if mastered, do much to render practical help to find the truths of psychology.

material is to be in ourselves

Options:

1) find

2) finding

3) found

4) finds

Correct Answer: found
Candidate Answer: found

QID : 15 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One should always keep in mind that psychology is essentially a laboratory science, and a text-book subject. The laboratory material is to be in
ourselves. While the text should be thoroughly mastered, its statements should always be verified reference to one's own experience, and observation of
others. Prospective teachers should constantly correlate the lessons of the book the observation of children at work in the school. The problems suggested
for and introspection will, if mastered, do much to render practical help to find the truths of psychology.

always be verified reference to one's own.

Options:

1) to

2) at

3) by

4) for

Correct Answer: by
Candidate Answer: [ NOT ANSWERED ]

QID : 16 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One should always keep in mind that psychology is essentially a laboratory science, and a text-book subject. The laboratory material is to be in
ourselves. While the text should be thoroughly mastered, its statements should always be verified reference to one's own experience, and observation of
others. Prospective teachers should constantly correlate the lessons of the book the observation of children at work in the school. The problems suggested
for and introspection will, if mastered, do much to render practical help to find the truths of psychology.

lessons of the book ________the observation of children

Options:

1) with

2) until

3) from

4) upon

Correct Answer: with
Candidate Answer: [ NOT ANSWERED ]
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QID : 17 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

One should always keep in mind that psychology is essentially a laboratory science, and a text-book subject. The laboratory material is to be in
ourselves. While the text should be thoroughly mastered, its statements should always be verified reference to one's own experience, and observation of
others. Prospective teachers should constantly correlate the lessons of the book the observation of children at work in the school. The problems suggested
for and introspection will, if mastered, do much to render practical help to find the truths of psychology.

suggested for and introspection will

Options:

1) observe

2) observes
3) observed
4) observation

Correct Answer: observation
Candidate Answer: observation

QID : 18 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

At large

Options:

1) A very big opportunity.

2) A criminal escaped or not yet captured.

3) To have a big heart.

4) A big appetite.

Correct Answer: A criminal escaped or not yet captured.
Candidate Answer: A very big opportunity.

QID : 19 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Head over heels

Options:

1) To do things exactly opposite of what is expected.
2) Madly in love.

3) To do stupid things.

4) To unknowingly dive into an unpleasant situation.
Correct Answer: Madly in love.

Candidate Answer: [ NOT ANSWERED ]

QID : 20 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Beyond or above the range of normal or physical human experience
Options:

1) Mundane

2) Transcendent

3) Ribald

4) Coarse

Correct Answer: Transcendent

Candidate Answer: [ NOT ANSWERED ]

QID : 21 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Capable of being imagined or grasped mentally
Options:

1) Dazzling

2) Conceivable

3) Stunning

4) Spectacular

Correct Answer: Conceivable

Candidate Answer: [ NOT ANSWERED ]

QID : 22 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

As he tried harder, his steps slowed, his senses (was activated).
Options:

1) is activated

2) were activated

3) were activate

4) no improvement

Correct Answer: were activated
Candidate Answer: no improvement

QID : 23 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

My daughter (comes running) as fast as her little feet can take her while her eyes sparkle vivaciously.
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Options:

1) comes run

2) come running
3) came run

4) no improvement

Correct Answer: no improvement
Candidate Answer: comes run

QID : 24 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Leadership and
A-team-building skills deepened
B-for relationships

C-a sense of value

Options:

1) ACB

2) ABC

3) CBA

4) CAB

Correct Answer: ACB
Candidate Answer: CBA

QID : 25 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) percoletion

2) parcolation

3) percolation

4) parcoletion

Correct Answer: percolation
Candidate Answer: parcolation

QID : 26 - In the following question, select the related word pair from the given alternatives.

Pascal : Pressure::?:?
frfafea uer & Ry 1y foredt § § T&fda e gm &t gigl

O&hed G ::?:?
Options:

1) Hectare : Volume
B : I

2) Speed : Temperature
T - qrEE

3) Joule : Work

e -

4) Time : Seconds
qHY ©

Correct Answer: Joule : Work

et : ik

Candidate Answer: Time : Seconds

I : YRS

QID : 27 - In the following question, select the related number from the given alternatives.
563:635::894:?

ffafEa uy 8 Ry g faeredt & @ wefa e @t gl

563:635::894:7

Options:

1) 849
2) 489
3) 498

4) 948
Correct Answer: 948
Candidate Answer: 948
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QID : 28 - In the following question, select the related letter pair from the given alternatives.
MOK:KLG::? : ?
feafafea vy § Ry g et & @ defda srer g &t gfg)

MOK:KLG::? : ?
Options:

1) FIM : DFI

2) TMA : UNB

3) KCN : JBM

4) FSA: IVD

Correct Answer: FIM : DFI
Candidate Answer: FIM : DFI

QID : 29 - In the following question, select the odd word pair from the given alternatives.

frfafea ue & Ry g foeredt & 9 fwm et gm &1 gfg)

Options:
1) Square - Four
- TR
2) Pentagon - Five
geye - g
3) Rectangle - Three
3rd — =
4) Triangle — Three
e - dF
Correct Answer: Rectangle — Three
g - 9
Candidate Answer: Rectangle — Three
g - 9

QID : 30 - In the following question, four number pairs are given. The number on left side of (=) is related to the number of the right side of (=) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2 g g v B, IR e gm Ry g 1 (-) & et ok & g () & arf ofik § 1 deen @ adh/fem § awifdd &1 i I ues adh/fem & e W wwE 81 Ry g feedt 7§ @
o=t gfAg

Options:

1)7 - 49

2)2-4

3)5-25

4)3-39

Correct Answer: 3 — 39

Candidate Answer: 3 - 39

QID : 31 - In the following question, select the odd letter/letters from the given alternatives.

et oer & g 1q Reredt & & fwm srar/sert &t g

Options:

1) RTV

2) HJL

3) KMP

4) BDF

Correct Answer: KMP
Candidate Answer: KMP

QID : 32 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Soften
2. Sterilize
3. Stick

4. Sterile
5. Status

frfafer real ht QTegahial H ST aTet 3 & SR ford |

1. Soften
2. Sterilize
3. Stick

4. Sterile
5. Status
Options:
1) 15423
2) 25134
3) 54213
4) 32154

Correct Answer: 15423
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Candidate Answer: 54213

QID : 33 - In the following question, select the missing number from the given series.
23,28, 34,41,49,?
ffafed oer A feg g foredt & & g sfe 71d SRIfSIg)

23,28, 34,41,49,?
Options:

1) 59

2) 57

3) 58

4) 55

Correct Answer: 58
Candidate Answer: 58

QID : 34 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
GJT, IMR, KPP, MSN, ?
Teh S1gehH foam T 8, Fored & o Ue g 81 feg g Rrenedl # 4 a8 I8t fashed 9fAg, STt Srgshn ol T R

GJT, IMR, KPP, MSN, ?
Options:

Correct Answer: OVL
Candidate Answer: OVL

QID : 35 - In a row of buses, Panjab is at 19t position from the right end. Raftaar is 23 places to the left from Panjab and is at the exact centre of row. How many
buses are between Raftaar bus and bus standing at the left end?

1 Y Tep Ufh &, oI <1l ®R & 19-F WM W g1 IER, U J 23 W IRif 31iR & J7 Ufth & Sioh Aem § &1 IR 99 9T 918 SR IR Tot o9 & qe fha-1 a9 §2
Options:

Correct Answer: 40
Candidate Answer: 40

QID : 36 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Government
g g femedt & @ T 2rea GG S G 7Y 2rea & S1&RT o1 TRINT ek @l ST S HehdlT B

Government
Options:

1) Got

2) Over

3) Need

4) Norm

Correct Answer: Need
Candidate Answer: Need

QID : 37 - In a certain code language, “FRIED” is written as “EQHDC". How is “RUSTY" written in that code language?

U fAfre wie wor &, “FRIED” &t “EQHDC” fo=aT STTar &1 39 &his arem § “RUSTY” &t fohg wepR forar sirgem?

Options:

1) PAXYZ
2) QTRSX
3) PARSX
4) NQVSZ

Correct Answer: QTRSX
Candidate Answer: QTRSX

QID : 38 - In a certain code language, - represents ‘X', '+' represents '+, '+' represents '+' and 'x' represents -'. Find out the answer to the following question.
19+2-35+10x6=?
Rl fAfSd snte T & ', 'x' ot UGTd Shear 8, '+, '+ ol UafRTd ST 8, '+, '+ ot UafRTd ahear g SR X, ' ot UafRid snear g1 Ao wst &t IR a1 al

19+2-35+10x6="?
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Options:

Correct Answer: 20
Candidate Answer: 20

QID : 39 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
15x18-6+20+4=29
fFrafafEa aefieor Tod &1 39 THte=or st T8t e o forg foha &F gl ot o & sreaT-ageft st anfey?

15x18-6+20+4=29
Options:

1) + and x

+ 3R x

2)+and-
+ 3R -

3)+and +
+ .

4)-and +
-3k +

Correct Answer: + and -

Candidate Answer: + and -

QID : 40 - If 40@8 = -5, 30@3 =-10 and 20@5 = -4, then find the value of 60@3 = ?

af& 40@8 = -5, 30@3 = -10 3R 20@5 = -4, A 60@3 &1 7 A H|

Options:

1) 45

2)-20

3)-5

4) -36

Correct Answer: -20
Candidate Answer: -20

QID : 41 - Which of the following terms follows the trend of the given list?
abABABAB, ABabABAB, ABABabAB, ABABABab, abABABAB,
frfefea # O &9 91 ug § it &t & o & SIgaR 87

abABABAB, ABabABAB, ABABabAB, ABABABab, abABABAB,
Options:

1) ABABAbaB

2) abABABAB

3) ABabABAA

4) ABabABAB

Correct Answer: ABabABAB
Candidate Answer: ABabABAB
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QID : 42 - Two village women are returning home starting
from the same point. The first woman walks 1 km South,
the turns to her right and walks 6 km to reach her house.
In the meanwhile the second woman walks 5 km West,
then she turns North and walks 4 km, then she turns to
her left and walks 1 km to reach her house. Where is the
second woman's house with respect to the first woman's
house?

&l aTHtoT AfSATd U 8 foig & fMaperd Y eR wile @t & | ugett
HigeT &feror o1k 1 foh. . dep Tetdt &, e o1+ il ok 78
SITdl g 3R (U TR dch Ugd- <h felT Mt 6 foh /Y. Tetdt 8139
o &Rt AfgT Ui bl a5 feh. HY. ek Tetdl 8, Tt ag I
Bl R Hedt g 3R 31 4 Toh. HI. Tk Terdl 8, T a8 371U+ 1Y
T Sdl g 3R 31U @R b Ugd- <h felT 31T 1 foh. Hi. deh et

¢ | Ugell AT & R ch &Y | g8 Higell ohl @R hgi 87

Options:

1) 5 km North
5 for At IR
2) 3 km North
3 fon. A S
3) 5 km South
5 for =, afaor
4) 3 km South
3 fon. = feyor

Correct Answer: 5 km North

5 fop. . IR

Candidate Answer: 5 km North
5 fon. Y. IR

QID : 43 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No books are notebooks
Statement II: All diaries are books

Conclusion I: No notebooks are diaries
Conclusion IlI: All diaries are notebooks

uy ¥ &l A $3 g o ot &t s | ofiR 11| Frepret T €1 siaent | € 136 S e I € TT8 98 ITHaG: AT 92l 9 vt gl 811 simgeRt fAufa s & Y few g
st & @ w-a1/a-8 Rffd 0 @ we gR1 98 Renrer ST gehdr &/9ed 8, afe s gt

FUA |: S ot G Hregeh Tel gt
w II: goft sl g gt &

e |: i off Aitege srafai 78 gt
Frsemd 11: w=ft sTafkat Aege gt §



www.makemyexam.in - Powered by IBT

Options:

1) Only conclusion | follows

Fadt fsey | wel &

2) Only conclusion Il follows

Fad ey || T8t 3

3) Both conclusions | and Il follow
T foreenef | o 1| Wt &

4) Neither conclusion | nor conclusion Il follows

1t freenef | gl § 1 g1 Fsemd |1

Correct Answer: Only conclusion | follows

e sy | 981 §

Candidate Answer: Only conclusion | follows

e sy | 981 &

QID: 44 -

In the following figure, rectangle represents Film critics, circle
represents Bakers, triangle represents Divers and square represents
Foothall players. Which set of letters represents Football players who
are not Divers?

RrRE R A, 3 Roen e 9 A a
Td a0 A TR # ¢, P A & wRd w §
AR 1 el FITEat @ FERia & §1 3R & #e W W
7 el Rasal o) ety w0 § 3 Al A ¥

G

/ (|

E
D \EJ/
c
Options:
1) ED
2) FD
3) GH
4)DC

Correct Answer: ED
Candidate Answer: ED

QID : 45 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
HPA, FMZ, DJY, BGX, ?

Tk 3rgehH o T 8, o @ ueh ue e 81 Ry 7y frshedt # @ a8 et fehew g, St sigew Y g

HPA, FMZ, DJY, BGX, ?

Options:

1) ZDW

2) ZEV

3) YDW

4) YEV
Correct Answer: ZDW
Candidate Answer: ZDW
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QID : 46 - In the following question, select the missing number from the given series.
672, 666, 660, 654, ?
fafafea vy 8 Ry 7y et & @ g ofe 31 hifsg)

672, 666, 660, 654, ?
Options:

1) 648

2) 646

3) 650

4) 640
Correct Answer: 648
Candidate Answer: 648

QID : 47 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

12 feq g e F, i Hmeti & IR g e MY €1 vdeh g § gl T T ST ugel! ST 9 fondt Uen adh/ i & wwifea g1 i I o deh/ e & saR )R a9 E &1 iy
Y fyenedt & @ f9= @t gfgl

Options:

1) (61, 64,71)

2) (57, 60, 69)

3) (75,78, 85)
4) (89,92, 99)

Correct Answer: (57, 60, 69)
Candidate Answer: (57, 60, 69)

QID: 48 -

If a mirror is placed on the line MN, then

which of the answer figures is the right

image of the given figure?

e, v g9oT w1 MN 3@ 9T T@T ST ar &
T 3ea A # A e 3nHfa v

3pfc & Fer gidiass gei?




Options:
1

2)

3)

4)

Correct Answer:

Candidate Answer:

www.makemyexam.in
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QID: 49 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

AT et 3RfT # @ Hi @1 7 fow
AT 9T Ipfd A & ol & & AT G0
ST Hehedl?

X% O

Options:
1)

2)

3)

4

O
200 [%

Correct Answer:

=
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Candidate Answer:

X<

QID : 50 -

A word fs represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are regresented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-I
are numbered from 5 to 9. A letter from these matrices can be regresented first by its row and next by
its column, for example 'F' can be represented by 24, 41 etc and 'P' can be represented by 58, 87 etc.
Similarty, you have to identify the set for the word 'UNIT.

W W a0 O GEU-EAG can qurn T g, o f feedt A & b e #
foam o 31 Rt # Row o FemwE de & o @ qEw gl A g, o
fow a1 & segt # §1 wemp F v o O a0 @ 4 R IRl A S
¥ 9 ¥ 5 g B O e A Oel SE 9% iR A & w wE g g
A &1 TGE & U CF # 24, 41 S gan R S W € @ P # 58,
87 g aawr g o €1 g A @ dR e A RU we UNIT F e

A @ g o
Matrix | Matrix 1l
EgE -1 _ | TR -
o | 1| 2] 3] 4 s |6 | 7] 8] 9
(8] C K E &1 B 5 5 x T P W
1 [ 1 [a]n i H 6 |1 | p | n|T[Pr]
il el clalo ||l 7]lalz]r]x]|o
3 C K G 1 K 2 u 0 P W 1]
4 | B | F 1 1 H 9 | p | N |w]| R | x

Options:
1) 22,78,34,69

2) 22,67,34,59
3) 14,69,24,75

4) 85,67,13,57
Correct Answer: 85,67,13,57
Candidate Answer: 85,67,13,57

QID : 51 - What is the least number that can be multiplied to 69120 to make it a perfect cube?

AaH T 1 ¢ ford 69120 @ Ton fkar ST Hend 8, o ok ag wel ue a9 9dh?

Options:
1)10

2) 50
3)25

4)5
Correct Answer: 25
Candidate Answer: 5

QID : 52 - Mr. Ankit is on tour to Siachin and he has Rs. 360 for his expenditure. If he exceeds his tour by 4 days, he must trim down his daily expenditure by Rs.3. For

how many days is Mr. Ankit is on tour?

e siftha Rafm & dR W & 8k 371ah Ury o19= a7 & forg 360 0 &1 afe ag oo ER & AR i o1fdies ana &, a0t 328 oruA e oo &t 3 % aah v aee anfq | e siftha
e R F g R &2

Options:

Correct Answer: 20
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Candidate Answer: 26

QID : 53 -

o
|

Determine the value of | lr_% |when r*+s*=0 and r+s=6.
\ J

. 5

rl—l;ﬂﬂmﬁmiﬁfﬁ'ﬁ’:{, g rP+s'=0 IR r+s5=6 §

Sy

Options:
1)0

2)0.5
3)1

4)6
Correct Answer: 0.5
Candidate Answer: 0

QID : 54 - What is the y — intercept of the linear equation 59x + 14y — 112 = 0?

ARG FHteReoT 59% + 14y - 112 = 0 & foIQ y - SraRieq [Fe=de] T 87
Options:

1)8

2)14

3) 28

4) 59

Correct Answer: 8

Candidate Answer: 8

QID : 55 - The circumferences of two circles are touching externally. The distance between their centres is 12 cm. The radius of one circle is 7 cm. Find the diameter
(in cm) of the other circle.

3 g Y URMY e w0 @ @ T 31 I bl & ol 1 gt 12 37 B, e g oY P 7 @70 8, ot e g v e (@) ) 1 i

Options:

1)12

2)10

3)8

4)5

Correct Answer: 10
Candidate Answer: 10

QID : 56 - The length of the radius of the circumference of a triangle having sides 9 cm, 12 cm and 15 cm is

Geh et &Y ofoird 9 Aeft, 12 Fft ok 15 Geft it 8, <t Sk uRga &t Brsar i «farg (cm # ) § &/ ghft?

Options:
1) 6cm

2)7.5cm
3)4.5cm
4)6.5cm

Correct Answer: 7.5 cm
Candidate Answer: [ NOT ANSWERED ]
QID : 57 - If X =600 and Y = 800, then X is how much percent less than Y?

Tfe X = 600 dATY = 800 & at X, Y & foha= ufard &wa 82

Options:
1) 33.33

2) 25

3)75

4) 35

Correct Answer: 25
Candidate Answer: 25

QID : 58 - The ratio of three numbers is 2 : 3 : 5. If the sum of the three numbers is 275, then what is the largest among the three numbers?

<t st T SruT 2 0 31 5 81 afS A1 et o i 275 §, at i Senetl § § Tod aS) W1 &’ 87
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Options:
1) 142
2)82.5
3)137.5

4) 152
Correct Answer: 137.5
Candidate Answer: 137.5

QID: 59 - S, T and U started a business and their capitals are in the ratio of 3 : 4 : 6. At the end they receive the profit in the ratio of 1: 2 : 3. What will be the respective
ratio of time period for which they contributed their capitals?

S, T U A Gk TR 3 fRam aan SAR USt 3: 4 : 6 h oura A 81 S A 3 1: 22 3 3 SguTd & 1T U ohedt & | 3k gIRT a2 Y 718 USht o Ty Y orafe) ot shwer: sigura
gm?

Options:

Correct Answer:2:3:3
Candidate Answer:2:2:3
QID : 60 - What is the average of first 7 multiples of 7?

7 % U 7 T[OTieR ol S1Ed T 87

Options:
1)7

2)14
3) 21

4) 28
Correct Answer: 28
Candidate Answer: 28

QID : 61 - A sum of Rs 8000 is divided into two parts. The simple interest on first part at the rate of 21% per annum is equal to the simple interest on second part at
the rate of 35% per annum. What is the interest (in Rs) of each part?

8000 ¥ foh Ter fA @Al &Y 9tk & ffSra foma ST &1 gt 9T IR 21% Y aTftien aX & |IURUT 7161 GER HHT WR 35% Sl aTfteh &R & FIERUT &TST & aRTeR & | U T & &1 (T
#) e §?

Options:
1) 1050

2) 840
3) 1400

4) 1220

Correct Answer: 1050

Candidate Answer: [ NOT ANSWERED ]

QID : 62 - Selling price of a glass is Rs 1965 and loss percentage is 25%. If selling price is Rs 3013, then what will be the profit percentage?

e 7T oAl faehd Hed 1965 T ¢ T g1 Ufasid 25% g1 afe fasha iea 3013 % 8, aF 7y ufaera a1 ghm?

Options:
1)13

2)10.4
3)15

4) 20
Correct Answer: 15
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Ramesh marks his article at Rs 6000 and after allowing a discount of 20%, he still earns 60% profit. What is the cost price (in Rs) of the article?

A ST %G T 6000 T TR SR AT § AT 20% i Fe &7 o TTd i I8 60% AT FHATAT & | TG I 36 44 (3 H) T 8?
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Options:
1) 3600
2) 4800
3) 3000

4) 4200
Correct Answer: 3000
Candidate Answer: 3000

QID: 64 -
What is the value of +/729 + 729 ++/7.20?

J729+ /729 +/7.29 T AT FT &2

Options:
1) 40.5

2) 456
3)335

4) 38.23
Correct Answer: 38.23
Candidate Answer: 38.23

QID : 65 - Rohan and Mohit together can build a wall in 8 days. Mohit and Vikas build the same wall in 10 days and Vikas and Rohan can build the same wall in 12
days. In how many days can all the three complete the same wall while working together?

e a1 Hifed AT goh IR @l 8 it # qr1 o Wehd &1 Atfed a faerrer St Srar &l 10 At & gy o wehd & SfR faerrer e g1 It &R &t 12 AT A g1 e Fepad &1 AT
1y fieten 3¢t SR ot foham AT & g1 e Fand €2

Options:

1) 240/37

2) 120/37

3) 150/37

4) 180/37

Correct Answer: 240/37

Candidate Answer: 240/37

QID : 66 - A boy starts from his house and walks at a speed of 5 km/hr and reaches his school 3 minutes late. Next day he starts at the same time and increases his
speed by 4 km/hr and reaches 3 minutes early. What is the distance (in km) between the school and his house?

e SehT 30 TR g 5 fon. /b i 1fd & Tete 9rue faernera 3 fime 38 & ugaan 81 siret 7 a5 ST 993 oR & aefar g T 7ot 71 4 .+ /ger srgran & $iR 3 e ugw uga
Srar 8| ferera aur Iud R & Aey g (fh.H. #) w82

Options:
1H1
2)1.25

3)1.125
415

Correct Answer: 1.125
Candidate Answer: [ NOT ANSWERED ]
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QID: 67 -

The line graph shows the number of students of a certain
university who passed in the given year in their final exams.
Study the diagram and answer the following questions.

Ig 1@N AP 3 BE H FE&T F A § A v RBfdee
ﬁﬁaﬁ@mﬁﬁvma&ﬁaﬁﬂqﬂﬁﬁﬁﬁﬁgﬂm
29 WG & e A AR ArAfaf@a g9t & 3ea ¢

Pass Students / LR IES

Q500 10000

12000

2011 2012 013 01 2015 2016 2017

Year/ 7§

In which year were number of students who passed were more than those who passed in the previous year?

e auf § I<iof gU BT &1 g | fohd ay $1fdies Hwem # ST 3ol gy 9?

Options:
1) 2016
2) 2015
3) 2014
4) 2013

Correct Answer: 2015
Candidate Answer: 2015

QID: 68 -

The line graph shows the number of students of a certain
university who passed in the given year in their final exams.
Study the diagram and answer the following questions.

g @1 AP 3 BE S FE&dr H g § A v RBfdee
ﬁﬁaﬁ@mﬁﬁvma&ﬁaﬁﬂqﬂm#ﬁﬁﬁ?m
29 HRE & e A AR ArAfel@a g9t & 3eat ¢

Pass Students [ Iediot g

Q500 10000

120040

2011 2012 2013 o014 2015 2016 2017

Year [ T§

What was the difference in the number of students who passed between the years 2013 and 2016?

T 2013 3R 2016 o = Il g T Al T | T iR o1?
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Options:
1) 1000
2) 500

3) 1500
4) 2000

Correct Answer: 500
Candidate Answer: 500

QID: 69 -

The line graph shows the number of students of a certain
university who passed in the given year in their final exams.
Study the diagram and answer the following questions.

Tg YW1 A% 39 oE H T F gAiar § S v ffdne
forafaemes # fov e af # ifdw qdem # 3edhol gu 81
3 WG F g A AR AerAfaf@a 93t & 3ea ¢

e Pass Students / Il B

a500 1000

o $500

2011 2012 013 01 2015 2016 2017

Year/ 7§

Number of students who passed in 2016 were greater than that in 2017 by

2016 & 3iivf gu o 6 T=ar 2017 & o 9 1fdres ot
Options:

1) 150%

2) 100%

3) 50%

4) 200%

Correct Answer: 100%

Candidate Answer: 200%

- Powered by IBT
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QID:70-

The line graph shows the number of students of a certain
university who passed in the given year in their final exams.
Study the diagram and answer the following questions.

g YGT A% 3 SET H T gfir § A v [fkse
ﬁaaﬁ@mﬁﬁvmaﬁﬁaﬁﬂﬁﬂﬁﬁﬁﬁgﬁl
3 W@ & 3edd & AR Aafaf@a wedt & 3caw &)

Pass Students / Icclof &1
12000
Q500 10000
1000
o 6500
T000
o 6500
4000 -
3500
2000
5
201 2012 2013 2014 2015 206 2017
Year/ 7§

- Powered by IBT

If students who pass are given a certificate, what is the number of certificates awarded in the last three years?

3R IO g Tt ST Bt yATOTa o Sran g, <t sifaw it awf | fg g yeoTgst i e a7 g2

Options:
1) 19500
2) 20000
3) 20500
4) 19000

Correct Answer: 20500
Candidate Answer: 20500

QID : 71 - The area and the length of one of the diagonals of a rhombus is 84 cm” and 7 cm respectively. Find the length of its other diagonal (in cm).

Ueh GHTAGHST T 8Fthel 3R Teh farehut ol cies shuer: 84 anf F.ot. ok 7 §.4f1. &1 393 o=y fepof &t g (&R, ) 3ra &

Options:

1)12

2) 24

3) 48

4) 36

Correct Answer: 24
Candidate Answer: 12

QID : 72 - Find the perimeter (in cm) of a semicircle of radius 28 cm.

28 & Brear aret ga srefga o ufkary (&.4. #) F19 @l
Options:

1) 288

2)144

3) 121

4)242

Correct Answer: 144

Candidate Answer: [ NOT ANSWERED ]

QID : 73 - Find the curved surface area (in cm”) of a hemisphere of diameter 28 cm.

28 §.1. =1 aret SrefiTiet & sk g o eFthet (af 9.4t ) A R
Options:

1) 1152

2) 1024

3) 956

4) 1232

Correct Answer: 1232

Candidate Answer: [ NOT ANSWERED ]
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QID : 74 - What is the value of (sin60° + 2/v3) ?

(sin60° + 2/v3) T | T 872
Options:

1) (2v3+1)/v3

2) 7/2v3

3)3

4) 2+V3

Correct Answer: 7/2v3
Candidate Answer: 7/2v3

QID : 75 - AXYZ is right angled at Y. If cosX = 3/5, then what is the value of cosecZ ?

AXYZ # Y U GHeRI0T 81 TfE cosX = 3/5, @ cosecZ &l | T &7
Options:

1) 3/4

2)5/3

3) 4/5

4) 4/3

Correct Answer: 5/3

Candidate Answer: 5/3

QID : 76 - Sudden decrease of birth rate would cause

1 X H 3T Sl & RuT gt

Options:
1) increase in per capita income

oty e o A gfg
2) increase in investment

fRvd afg

3) increase in savings

EECE:)

4) increase in loan requests

o STt 7 gy

Correct Answer: increase in per capita income

TR =afen o A g

Candidate Answer: increase in per capita income
ik o | gig

QID : 77 - In the last one decade, which one among the following sectors has attracted the highest foreign direct investment inflows into India?

fred Ue g2 8, R & =fofea &= 7 foram gaffdres fadeft ueger asr sefta forar 82

Options:
1) Food processing
Qe YT 0T

2) Petro-chemical

3) Chemicals other than fertilizers

IR & SFeATaT T

4) Telecommunications

REAR

Correct Answer: Telecommunications
REAR

Candidate Answer: Telecommunications

AR

QID : 78 - Harshavardhan's Vallabhi conquest is found in which of the following inscriptions?

gae & gewsft oo ol Rt # @ forg & urar mar 82

Options:

1) Aihole Pillar Inscription
Vgt W R

2) Junagadh Inscription
TG R

3) Navsari Copperplate Inscription
BECINEIERERR

4) Damodarpur copper plate Inscription
RICEERE

Correct Answer: Navsari Copperplate Inscription

ECRINKICEERR SIS EC]
Candidate Answer: [ NOT ANSWERED ]

QID : 79 - What was the northwestern border of the Mughal Empire during the reign of Akbar?
SRS & T Il ATHTSY hl UfwiR T om off?
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Options:

1) Punjab
EEic)

2) Hindukush

e

3) Kabul

It

4) Sindh

e

Correct Answer: Hindukush
%@'@QT

Candidate Answer: Hindukush

IEpeesl

QID : 80 - What is called the minimum distance from the Sun in a planet in its orbit?

Teh UE Y 3107 et # G & ~gaH g o T Shgl ST 87

Options:
1) perihelion

2) aphelion

R

3) Apogee

Satsft

4) Perigee

Rt

Correct Answer: perihelion

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - Another name for Indira Point is:

3R UTEe AT ST A &: I
Options:

1) Parson point

UREHA drge

2) La-Hi-Ching

-

3) Pygmalion point

formaferg= ufde

4) All options are correct.

g} foered 6t 81

Correct Answer: All options are correct.

g} faerey Tl 81

Candidate Answer: All options are correct.

g} faerey Tl B

QID : 82 - What was the real name of Swami Vivekananda?

Tt fAdepTe o1 arafdes T o AT?

Options:

1) Surendranath Bose

AT I

2) Narendranath Dutt
RIS

3) Vidyadhar Roy

[ERICIEGE]

4) Shyamal Bose

AW I

Correct Answer: Narendranath Dutt

TR &

Candidate Answer: Narendranath Dutt

AT &

- Powered by IBT

QID : 83 - Military exercise ‘Prabal Dosty’ Which was held in November 2017 was conducted between

=g 31T ‘TEe e, S AdsR 2017 § fopar ma, & i s fSia fewar mam am?
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Options:

1) India and Afghanistan
IRA 3R ST

2) India and Kazakhstan
IR R FHoAThEd

3) India and Uzbekistan
IRA 3R Isafchea™

4) India and Turkmenistan
IR 3R

Correct Answer: India and Kazakhstan
9Rd 3R

Candidate Answer: India and Afghanistan
9Rd 3R

QID : 84 - Who among the following has been awarded the “Rajiv Gandhi Khel Ratna Award" for the year 2017?

freafafea 3 @ e av 2017 & ‘Trfig it @« w1 g & g fomar mar &2
Options:

1) Jitu Rai

S

2) Jasvir Singh

SR i

HER

4) S.V. Sunil

vt gihe

Correct Answer: Sardar Singh
R R

Candidate Answer: Sardar Singh
TR [

3) Sardar Singh
G

QID : 85 - Vedda is a tribe of which of the following countries?

A1 Frfafea & fore 2er it Seomfa 82

Options:
1) Maldives
A

2) Myanmar

RIAR

3) Sri Lanka

Eicceal

4) Bangladesh

FATRT

Correct Answer: Sri Lanka

Candidate Answer: [ NOT ANSWERED ]

QID : 86 - Which of the following is natural fiber?

feafafEa § @ urepfae 39 o ar &2
Options:

1) Silk

_W

2) Rayon

Leic

3) Nylon
BIESIE]

4) Polyester
uifegeR

Correct Answer: Silk
R

Candidate Answer: Silk
R

QID : 87 - Which of the following statement(s) is/are CORRECT?
fafafea & @ &9 91/3 Hu= a@ 8/8?



www.makemyexam.in - Powered by IBT

Options:

1) Oxides of non-metals are basic.
YT & HFATES &R Bid g

2) Oxides of non-metals are acidic.
g & SiferTgs e gid g1

3) Oxides of metals are acidic.
YISt & SHiTES Sl 81 &l

4) All options are correct.

g} farey TEl 21

Correct Answer: Oxides of non-metals are acidic.
ST & SiferTgs 3 g1d g1
Candidate Answer: [ NOT ANSWERED ]

QID : 88 - In India, which of the following body is Constitutional in nature?

Rd A, Fefaf@a 7 & o a1 e ddurfe wu 4 82

Options:

1) NITI Aayog

fifa smanT

2) National Human Rights Commission
qFg 37T

3) Central Vigilance Commission

4) Finance Commission

Correct Answer: Finance Commission

o smaT

Candidate Answer: National Human Rights Commission
AHg

QID : 89 - Which part of the Indian Constitution deals with ‘The Municipalities?

IR T & forg vrT & ‘wRurferarey’ & TR & sarar 14 §?
Options:

1) Part VII

qrT VIl

2) Part VIlI

qrT VI

3) Part XI

arT X

4) Part IXA

HRT IX &

Correct Answer: Part IX A
AT IX &

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Organisms use bio-catalyst to break down complex substances into simpler substances. These bio-catalysts are called

Sfa Sa-3cReh T ITANT STfeet ueTT hl T¥et yert & @fed et & forg e €1 37 -3kt gl ST &

Options:

1) enzymes
TSITIgH

2) hormones

3) vitamins

4) No option is correct.

i3 fheT T8t T8l 81
Correct Answer: enzymes
RSIEL

Candidate Answer: enzymes
RSLEL

QID : 91 - The first step of process of nutrition is the breakdown of glucose into a three-carbon molecule called

UTYUT ISk eh1 UG T=0T Te[hTST ShT ek <1+ h1aiT aTet 37T, AEsT8I

Options:
1) pyruvate
UrIRde

2) propanol
BlCicH

3) propane
el

4) methanol
EDEIC]
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Correct Answer: pyruvate

Candidate Answer: pyruvate

QID : 92 - “Saubhagya” scheme was launched to provide which of the following?

g g FREfead & @ o Ue she o folg 3 &1 TS oft?

Options:
1) Water connections
STeT ST

2) LPG connections
TeTdisft e

3) Electricity connections
S

4) Broadband connections

STeas e

Correct Answer: Electricity connections
{c

Candidate Answer: LPG connections

Terdisft e

QID : 93 - Which of the following became first Indigenously developed vaccine from India to be pre-qualified by World Health Organisation?

fafafea 3 @ o a1 sy Wreen We+ gRT g sigat UTd, 9Rd i 3R § 321 8 &t faarf&a v e &2

Options:
1) Rotavac

2) Hemophile
GEIkgES]
3) Pentavac

4) Pneumococca
Correct Answer: Rotavac
Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In July 2017, RBI Capped how much Customer liability if they report unauthorised transactions within seven working days?

TS 2017 H, SRef1ams 7 ‘Trges Y 2gar i ey fha-f Puffa & onr 3 gra &rd et & Hfiar smfdegd e K g da &2
Options:

1) Rs 50,000

50,000 %

2) Rs 25,000

25,000%

3) Rs 1,00,000

1,00,000 ®

4) Rs 75,000

75,000 %

Correct Answer: Rs 25,000
25,000%

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - 0On 10 April 2017, Lok Sabha passed the Motor Vehicles (Amendment) Bill, 2016. The Bill seeks to amend .

10 318t 2017 @Y, AT 7 Hiex arg (Tsne) fadges, 2016 wRa fran a8 Adaes ! G T Trgar g1
Options:

1) Motor Vehicles Act, 1988

Atex arg sifafaam, 1988

2) Motor Vehicles Act, 1998

Atex are- rfafad, 1998

3) Motor Vehicles Act, 2005

Tlex argA ifAfRam, 2005

4) Motor Vehicles Act, 2010

Atex arg- rfafe, 2010

Correct Answer: Motor Vehicles Act, 1988
AYex arg-1 rfafe, 1988

Candidate Answer: [ NOT ANSWERED ]

QID : 96 - What is the effective resistance (in Q) of two resistors 20 Q and 30 Q connected in parallel?

iR oft § S §7 20 Q 97 30 Q gt & ufakterenl a1 wrdt uferteds (Q #) foraam gim?
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Options:
1) 50

2)12
3)24

4) 25
Correct Answer: 12
Candidate Answer: 12

QID : 97 - 1 km/hr equals m/s.

1 f.dt /e =_ H/4

Options:

1) 5/18

2) 18/5

3)5/16

4) 16/5

Correct Answer: 5/18

Candidate Answer: 5/18

QID : 98 - To keep warm, polar bears have a layer of under their skin.

T P THIEA & U TR TR AT I FRA s El
Options:
1) muscle
Akl
2) fat
q4r
3) cartilage
IuTfey

4) hair
oTel

Correct Answer: fat
El

Candidate Answer: fat
El

QID : 99 - Which of the statements given below are correct?

A) Maverick Vifiales won the 2017 Qatar Motorcycle Grand Prix MotoGP.
B) In 2017, Zaheer Khan captained the IPL team Royal Challengers Bangalore.
C) In 2017, Gautam Gambhir captained the IPL team Kolkata Knight Riders.

T dd s arsrm g §?

A) T1aRes =TT = 2017 o1 ok Hiexarsicher U1 i At fRare Sian

B) af 2017 & SR @M 7 snsdiuat &7 Aaet deiord el i shear 6 off |
C) a¥f 2017 & itqw 77fiR 7 ST EF AT AT5e A3 I R dh oft|
Options:

1) Only A

hae A

2) Only B
et B
3)AandC
AsiRC
4)A,BandC
A B3RC

Correct Answer: A and C
AsRC

Candidate Answer: A and C
AsRC

QID : 100 - In Microsoft Word, font, font style, size, font color etc. are options of
TTSEhIGITE S H, thive, Thiwe Siell, 31TehR, Thive &l TT 31 &l e B1d &1
Options:
1) Character formatting

AT
2) Paragraph formatting
Rk wRiAfET

3) Sentence formatting

4) Font formatting
e Y

- Powered by IBT
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Correct Answer: Character formatting
WhrAfET

Candidate Answer: Font formatting
TRI-E TRIATET





